
 

       

 

4 Optitap © for Patching and Splicing 
P/N: FSPED12124141-1057-RS-4OSPSCA 

 
Materials Include: 
(1) Splice Tray Holder 
(2) Cable Clamps (optional) 
(1) 4 Optitap© Adapter Plate 
(4) 4 x 2 mm long Yellow Jacket Pigtails for Splicing 
(1) Ground Bar with #6 Ground Wire Clamp** 
(2) 15” Ground Straps** 
(1) 16” X 16” Vapor Barrier 
(7) Medium Wire Saddles 
(1) Generic 811 Warning Label** 
 
Optional MSI SI-GL4-11 Clamp 
Optional One 15” Ground Strap 
5 1/4-20 Keps Nuts with Cable Clamps 
You may also use your own company label 
 
Subject to type availability. Some variations may have limited stock or may be subject to minimum order quantity. 

 

Hardware for 2 x 2 Kit Bag: 
(5) 1/4-20 Keps Nuts** 
(1) 1/4-20x1/2” Carriage Bolts 
(2) 10-24 Keps Nuts 
(2) 10-24x1/2” Carriage Bolts 
(2) 10-32x5/8” Phil Pan Screws 
 


